Opérations avec deux fractions mixtes (C)

Nom: Date: Note:

Calculez chaque résultat.

1 5%+2% =
2 5%+2% =
3 3%+5% =
4 5%—3— =
5 5%><11—70 =
6. S5=—4=- =
7 5%+1% =
8 5%><11—21 =
9 5%—2— =
10. S;XI% =
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Opérations avec deux fractions mixtes (C) Réponses

Nom: Date: Note:

Calculez chaque résultat.

3 1 23 9 32
Loyt =gty s o4 =1 708
3 3 38 17 55
—42- = — 4 — = —_ = 7-
2 9 t2s = ot 7
, 33l .26 1L S5 75
475 4 5 4720 104
1 11 11 11
3T E 73S % T %
s slyq L 36 17 _ 612 306 26
7 10 7710 70 35 35
11 9 2
65——4——7—5— 5 = 1
1 1 21 5 26 13
e T
1 2 11 13 143 13
snXg=E=gXa s m T 2 %%
11 5 6 3
572 T 3753 3 T o1 73
3 1 38 8 304 10
10. 5§><1§ = 7x§ Ty —64—9
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